



---

**SOLUTION OF INEQUALITIES WITH POWER-EXPONENTIAL FUNCTIONS BY  
CÎRTOAJE**

MASAKI HISASUE

*Received 14 November, 2011; accepted 14 August, 2012; published 13 November, 2012.*

ASAHIKAWA FUJI GIRLS' HIGH SCHOOL, ASAHIKAWA HANASAKI-CHO 6-3899, HOKKAIDO, JAPAN,  
[masaki@fuji.ed.jp](mailto:masaki@fuji.ed.jp)

**ABSTRACT.** In this paper, we prove the open inequality  $a^{2b} + b^{2a} \leq 1$  for all nonnegative real numbers  $a$  and  $b$  such that  $a + b = 1$ .

*Key words and phrases:* Inequalities for sums.

*2000 Mathematics Subject Classification.* 26D15.

## 1. PRELIMINARIES

In the paper [2], V. Cîrtoaje proved the following inequality

$$a^{2b} + b^{2a} \leq 2$$

for all nonnegative real numbers  $a$  and  $b$  such that  $a + b = 2$  and conjectured the following inequality

$$a^{2b} + b^{2a} \leq 1$$

for all nonnegative real numbers  $a$  and  $b$  such that  $a + b = 1$ . In this paper, we will prove this open inequality.

## 2. MAIN RESULT

Without loss of generality, assume that  $a \leq b$ .

### Theorem 2.1.

$$a^{2b} + b^{2a} \leq 1$$

for all nonnegative real numbers  $a$  and  $b$  such that  $a + b = 1$ .

Put  $f(a) = a^{2-2a} + (1-a)^{2a}$  for  $0 \leq a \leq \frac{1}{2}$ . Then we prove the case  $f(a) \leq 1$  for  $0 \leq a \leq \frac{1}{2}$ . If  $a = 0$  or  $\frac{1}{2}$ , then it is easy to see  $f(a) = 1$  we assume that  $0 < a < \frac{1}{2}$ .

*Proof.* (i) Case  $0 < a \leq \frac{1}{4}$ . By Bernoulli's inequality, we have  $f(a) < a^{2-2a} + 1 - 2a^2 = 1 - a^2(2 - a^{-2a})$ . Since  $a^{-2a}$  is strictly increasing on an interval  $[0, e^{-1}]$ , we have  $1 - a^2(1 - a^{-2a}) \leq 1 - (\frac{1}{4})^2(2 - (\frac{1}{4})^{-\frac{1}{2}}) = 1$ , this condition fulfilled.

(ii) Case  $\frac{1}{4} < a < \frac{1}{2}$ . Put  $a = \frac{1-x}{2}$ , then  $0 \leq x \leq \frac{1}{2}$  and

$$\begin{aligned} f(a) = g(x) &= \left(\frac{1-x}{2}\right)^{1+x} + \left(\frac{1+x}{2}\right)^{1-x} \\ &= \frac{1}{2} \{e^{x \ln 2} (1+x)^{1-x} + e^{-x \ln 2} (1-x)^{1+x}\}. \end{aligned}$$

Put  $c = \ln 2$ . It is well known that

$$\ln \frac{1-x}{1+x} = 2 \sum_{n=0}^{\infty} \frac{x^{2n+1}}{2n+1}.$$

Put  $x = \frac{1}{3}$ , we have

$$c = \ln 2 = 2 \left( \frac{1}{3} + \frac{1}{3 \cdot 3^3} + \frac{1}{5 \cdot 3^5} + \frac{1}{7 \cdot 3^7} + \cdots \right).$$

Then by  $2(\frac{1}{3} + \frac{1}{3^4}) < c < 2(\frac{1}{3} + \frac{1}{3^4} + \frac{1}{3^6} + \frac{1}{3^8} + \cdots)$ , we have  $0.69 < c < 0.7$ . Since  $0 \leq x \leq \frac{1}{2}$  we have  $0 < cx < \frac{2}{5}$ . Then

$$\begin{aligned} e^{cx \ln 2} &= 1 + cx + \frac{(cx)^2}{2!} \left( 1 + \frac{cx}{3} + \frac{(cx)^2}{3 \cdot 4} + \cdots \right) \\ &\leq 1 + cx + \frac{(cx)^2}{2} \left( 1 + \frac{2}{15} + \left(\frac{2}{15}\right)^2 + \cdots \right) \\ &= 1 + cx + \frac{15}{26}(cx)^2, \end{aligned}$$

$$\begin{aligned}
e^{-x \ln 2} &= 1 - cx + \frac{(cx)^2}{2} - \frac{(cx)^3}{3!} + \frac{(cx)^4}{4!} - \dots \\
&\leq 1 - cx + \frac{(cx)^2}{2}, \\
(1+x)^{1-x} &\leq 1 + (1-x)x + \frac{x-1}{2}x^3, \\
(1-x)^{1+x} &\leq 1 - (1+x)x + \frac{x+1}{2}x^3 + \frac{1-x^2}{6}x^4 \left(1 + \frac{1}{4} + \frac{1}{4^2} + \frac{1}{4^3} + \dots\right) \\
&= 1 - (1+x)x + \frac{1+x}{2}x^3 + \frac{2(1-x^2)}{9}x^4.
\end{aligned}$$

Then we have

$$\begin{aligned}
2g(x) &\leq \left[1 + cx + \frac{15}{26}(cx)^2\right] \left[1 + (1-x)x + \frac{x-1}{2}x^3\right] \\
&\quad + \left[1 - cx + \frac{(cx)^2}{2}\right] \left[1 - (1+x)x + \frac{1+x}{2}x^3 + \frac{2(1-x^2)}{9}x^4\right] \\
&= 2 + \left(\frac{14c^2}{13} + 2c - 2\right)x^2 + \frac{c^2}{13}x^3 \\
&\quad + \left(-\frac{14c^2}{13} - c + \frac{11}{9}\right)x^4 - \left(\frac{c^2}{26} + \frac{2c}{9}\right)x^5 + \left(\frac{4c^2}{3} - \frac{2}{9}\right)x^6 + \frac{2c}{9}x^7 - \frac{c^2}{9}x^8.
\end{aligned}$$

We have

$$-\left(\frac{c^2}{26} + \frac{2c}{9}\right)x^5 + \frac{2c}{9}x^7 \leq -\left(\frac{c^2}{26} + \frac{2c}{9}\right)x^5 + \frac{1}{4} \cdot \frac{2c}{9}x^5 = -\left(\frac{c^2}{26} + \frac{c}{6}\right)x^5 \leq 0,$$

moreover since  $-\frac{14c^2}{13} - c + \frac{11}{9} > 0$  and  $\frac{4c^2}{3} - \frac{2}{9} > 0$ , we have

$$\begin{aligned}
\left(-\frac{14c^2}{13} - c + \frac{11}{9}\right)x^4 + \left(\frac{4c^2}{3} - \frac{2}{9}\right)x^6 &\leq \frac{1}{4}\left(-\frac{14c^2}{13} - c + \frac{11}{9}\right)x^2 + \frac{1}{16}\left(\frac{4c^2}{3} - \frac{2}{9}\right)x^2 \\
&= \left(\frac{-29c^2}{156} - \frac{c}{4} + \frac{7}{24}\right)x^2,
\end{aligned}$$

and

$$\frac{c^2}{13}x^3 - \frac{c^2}{9}x^8 \leq \frac{c^2}{26}x^2.$$

By all, we have

$$\begin{aligned}
2g(x) &\leq 2 + \left[\left(\frac{14c^2}{13} + 2c - 2\right) + \frac{c^2}{26} + \left(\frac{-29c^2}{156} - \frac{c}{4} + \frac{7}{24}\right)\right]x^2 \\
&= 2 + \frac{290c^2 + 546c - 533}{312}x^2
\end{aligned}$$

Since  $0.69 < c < 0.7$ , we have  $290c^2 + 546c - 533 < 0$ , which completes the proof. ■

By the proof of this theorem, we have the following:

**Theorem 2.2.**  $a^{2b} + b^{2a} = 1$  if and only if  $(a, b) = (0, 1), (\frac{1}{2}, \frac{1}{2}), (1, 0)$  for all nonnegative real numbers  $a$  and  $b$  such that  $a + b = 1$ .

**REFERENCES**

- [1] T. M. APOSTOL, *Introduction to Analytic Number Theory*, Springer-Verlag, 1976
- [2] E. J. BARBEAU, *Pell's Equation*, New York: Springer-Verlag, 2003.
- [3] H. COHN, *Pell's Equation*, New York: Dover, 1980.
- [4] J. H. CONWAY and R. K. GUY, *The Book of Numbers*, New York: Springer-Verlag, pp. 30-32, 1996
- [5] G. H. HARDY and E. M. WRIGHT, *An Introduction to the Theory of Numbers*, Oxford Science Publications, 1979.
- [6] R. K. GUY, *Unsolved Problems in Number Theory*, 2nd ed, New York: Springer-Verlag, 1994.
- [7] M. J. JR. JACOBSON, *Solving the Pell Equation*, Cms Books in Mathematics, 2008.
- [8] H. W. JR. LENSTRA, Solving the Pell Equation, *Not. Amer. Math. Soc.* **49** (2002), pp. 182-192.
- [9] O. TAUSSKY-TODD, Sums of Squares, *Amer. Math. Monthly* **77** (1970), pp. 805-830.
- [10] A. WEIL, *Number Theory, an Approach through History*, Birkhauser, Boston, 1984